G‘{' GIGA PRECISION

mXITE  1250mm

Maximum Stroke

REEE  1600mm/s

Maximum Speed

BEFEE 00w

Motor Output

REBTF  g16mm

Ball Screw

eEE#HSE, HEREFRERTET

The picture is just for reference.Please check the actual dimensions on the drawing.

ik S skl Ordering Code

GTH12 - L5 - 100 - BC - M40LB - C4 - 0001

ZE2RIEE ER
Model Special Order No.
ii’*EEEl Stroke
50-1250mm
ﬁﬁgfi B0REFE 50 mm Pitch
auu =
Ball Screw Lead | !ﬁﬁ%ﬁ@ﬂﬂ@@%
5 | 5mm Limit Sensor
10 | 10mm — SMEHEY Out Side
20 | 20mm 3|18 1pc
32 | 32mm - 4| 2R 2pc
5 E R RS kS [ LRk 2R % SENSOR No Sensor
E_,E{WE Motor Brand Power Output Home Sensor 5 m
Motor Position M| =2 Mitsubishi [05] - L/H |B SMAE Out Side #E SENSOR No Sensor]
BC EiEIE P | #A7 Panasonic (10| - C | BBi& | Motor Side
Motor Exposed = S N )
EETIH Y| &l voskowa |20| - D | K&l Opposite Motor Side
BM | ¥icior Boffom sice T | B3& Delta 40| 400W #SENSOR No Sensor
BELR KL (RIER  H : SIEE  SEEARES AT E | # SENSOR No Sensor
BL | N o Lot side L : Low inertia, H : High inertia. If no distinction of
inertia, No Description. HOEIEITIZO08F, 75 LU TBRAI
BR BiEAIR XB : 8K, EEmREAIRER. When fhe sfroke is 50mm, fhe sensor installation has
Motor Right Side B Braking, If No Brake, No Description. 1 g%?ﬁxﬁ%ﬁ%%%kxﬁﬁh v
Home sensor and imif sensor has 1o be installedt on the

different side of body.

2. B A TR R R

FEF o
Both sides of sider need fonstal fhe sensor igger device.

B22 www.gigager.com



GIGA —

EZIK{:H% Specification @Bﬁ%%?%i’é% <FERixE> SensorLayout

I ]
(I EEEISE Repeatability (mm) +0.01 Ak Lt indcatored) o X
kN o il
EFE Lead (mm) 5 10 20 32 %2‘%’7 oo
m BEHEE Maximum Speed (mm/s) 250 | 500 | 1000 | 1600 CM‘J? ﬂi:"j‘ﬂﬁﬁ' q
Ak 33 22 10 8 a
A& 71 Rated Thrust (N) 1388 | 694 | 347 | 218
IEHE4T 32 Stroke Pitch (mm) 50-1250mm/50 fEF& 50mm Pitch
ACRIIREIEZAE  ACServoMotor Output (v) 400W
IR | BBRAFFIME  BallSorew § (nm) C7D16
AR | E#E  Cowing(nm) 10X 14
JE B R FESE Home Sensor | oM EE-SX674(NPN)
HAEEBTS0N, BELRITRE, LEREEEER, HEMAERZ0 2D
“When he stoks s over 750 therun-out of th ballscrewwil ccur <Accslonstion and caasceleratn value s st 0.2 58con,

We recommend to low down the working speed under this circumstances.

*E1:4# FiPanasonic 200WS Eky, HEEMOBO11; HMEE, SEHMOB 014,

*Motor (200W) Shaft Diameter: Panasonic: 11mm; Other: 14mm

23 =/ & : Ze g1
‘é‘ E!Fﬁikj] EE;E N .M Allowable Moment of Inertia %@%ﬁ'ﬁ ﬁﬁgg Static Loading Moment of Inertia
A
B ¢
c A c A w
B [MR]
(B fZUnit:mm) (B fZUnit:mm) (B fzUnit:mm) (B fzUnit:N.m)
= =%
Horisontol reialation] B|C %ﬁ.ﬁﬁn A B ¢C Ver% Iﬂn‘fﬁ:%\on A c LN 606
@ | 60kg |2850| 250 | 340 g | 55kg | 280 | 280 |3300 g | 15kg | 1200 | 1200 mP 606
2 [ sokg |2100[ 180|250 £ [ 75kg |200 | 195 2400 F | 22g | 820 | 820 MR 1168
Lead Lead Lead
110kg [1500| 120 | 170 33k 550 550 — . N
g T10kg |130 | 125 1550 9 NERFRTOMIE, REE D,
- 30kg (2850 490 | 600 - 35kg 400 | 410 | 2500 - 10kg 1600 1600 *The torque value in the chart indicate the center of gravity.
i 2 2 HERGREMESEAT, REZHB100000E,
10 50kg 1700/ 280 | 350 10 55kg 245 | 250 | 1550 10 14kg 1150 1150 ‘Ope?auon life is 10,000km when the product \s:;ng under the specified
“° | 88kg |950 | 140|190 | 88kg |150 | 150 | 950  “° | 22kg | 730 | 730 conditions.

Bl REREEERRERS, NERRFLHRIES.
§ 10kg |3400|1250] 1400 ] 12kg 900 | 1070|3000 ] 7kg 1800 1800 'Dalalnformatio’n is not for ce\Hng—moummvz‘?se usﬁe/.nComact us for the
% 22kg 1650| 550 | 620 ;% 20kg 550 | 630 | 1800 ;% 10kg 1250 1250 details if you want to apply ceiling—mount inverse usage.
| 4a0kg |900|200] 330 | 40kg |260 | 300|900 B - B
i 15kg {1100 | 570 | 550 5 15kg | 440 | 570 | 1050 - 5kg 1600 1600
% | 25kg | 620|330 320 %[ 30kg |210 [270|520  E | 8kg | 1000 | 1000
| 30kg | 520|270 260 | - - -] - o - - -

FEFL {7] AR B 1ZE — B 3% Suitable Motor Brand

|
g K& BIERR BEFE BESE | ESRERE AR BIE R EE BE &) 25 B 5%
Brand Mark Brake Watp (AC-Voltage) Motor Model Driver Model
. IR A OK AR 400 220 HG-KR43 MR-J4-40A
=% M No Brake (Horizontal Type)
Mitsubishi AR E(EE L) 400 220 HG-KR43B MR-J4-40A
With Brake (Vertical Type)
S (K A
BT p No Brake (i-(iorizomm Type)) 400 220 MHMD042G1U MADHT2510
Panasonie A M (EE L) 400 220 MHMD042G 1V MADHT2510
i rake (Vertical Type)
AR EE (7K A5 i -
- . X Brakﬁmmilﬁe{ 400 220 ECMA-C20604ES ASD-B20421-B
Delta '§9: 1+ E
vﬁh BE@J%%CL Tﬁ)) 400 220 ECMA-C20604FS ASD-B20421-B

www.gigager.com




G+

B24

GIGA PRECISION

BIEINE

Motor Exposed

&

XTR50 K, B
B EEEEA SR
B , B
4 XBHEE , BE
EEARMERATHR
13 7L 8Pt o

When the stroke is 50mm,
if fixing the body from
the top to the bottom, the
ixing hole will be blocked
by slider and only can be
uses 4 screws to ix;as a
result, suggest that ixing
actuator body from the
bottom to the top.

BEMMARR 66.75 +1

Mechanical limit: 66.75+1

L

o= BEAWMAER 117541

B View

=-%

T)| Mechanical limit:11.75+1

BARE 1745 -
Orig:i.n of actuator: 174.5 BRITIE Stroke 195
2015
m; 14 =T T
s fieac] 5 — D
2-@6 V10H7 8-M6x1.0 V17

The datum plane

B Unit:mm

M*100 A __46

N-M8x1.25V 16+@6.8 THR. XL
T

©
=
S8
29
=
=)
<

A-A View
120
60:0.03_ 60
@68 THR. |
2
Z H o2

98 1100£0.02

AY
= | [M8x1.25%16  of

| 2EE

The datum plane

ﬁs?rﬁf 50 100 150 200 250 300 350 400 450 500 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250
L 344 | 394 | 444 | 494 | 544 | 594 | 644 | 694 | 744 | 794 | 844 | 894 | 944 | 994 | 1044 | 1094 | 1144 | 1194 | 1244 | 1294 | 1344 | 1394 | 1444 | 1494 |1544
A 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100
M 1 2 2 3 3| 4] 4 5 5 6 6 7 7 8 | 8 9 9 |10 | 10 | 11 1 |12 | 12| 13 | 13
N 6 | 8 8 | 10 | 10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28 | 30 | 30
P 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 |1300
KG | 455|496 |5.37 | 578 | 6.19| 6.6 | 7.01 | 7.42| 7.83 | 8.24 | 8.65 | 9.06 | 9.47 | 9.88 [10.29| 10.7 | 11.11 |11.52 | 11.93 | 12.34 | 12.75 | 13.16 | 13.57| 13.98 |14.39
A%
BIiET
Motor On Lower Side B {7 Unit:mm
L
3L
AR 161 e
Origin of actuator: 161 HRIT Stroke 119.5
. 2015 BEWMARR 117541
BEEIMIERR 53.05 +1 %5 Mechanical limit:11.75+1
Mechanical limit: 53.25+1
= T =T T
. o, ey o
2-@6V10HT- 8-M6x1.0¥17
120
©
@) L ~
©
©
3 The datum plane
= e A-A View
XATH2 50 B, 7 e 1845 *100 A_ 46 120
BLESEEARR ' N-MB
e ty -M8x1.25716+@6.8 THR-
REEE  EEER \ Fl Eal 60:0.08 60
4 XBHEE B © N _@68THR. |
EEARMERTHR > = wolo
B 7 7L 3 o s i = I
When the stroke is 50mm, s o m %
if fixing the body from ) 8 » ¥ 4 ®
the top to the bottom, the © | BView @6H7V 6 =
ixing hole will be blocked 184.5 ‘ P _J LM8x1.25v16 © X
by slider and only can be e
uses 4 screws to ix;as a XEERREFRFIN132A - The datum plane
result, suggest that ixing he overall length of the motor must be within 132mm.

actuator body from the
bottom to the top.

L 330.5|380.5|430.5

480.5|530.5 | 580.5| 630.5|680.5 | 730.5 |780.5 | 830.5

880.5 |930.5 | 980.5[1030.5[1080.5

1100 1150 1200 1250

1130.5[1180.5/1230.5 |1280.5| 1330.5/1380.51430.5[1480.5[1530.5

100 | 50 | 100

5 100 | 50 | 100 | 5

0 | 100 | 50 | 100

50 | 100 | 50 | 100 | 50

100 | 50 100 50 100 | 50 | 100 | 50 | 100

2 2 3 3 4 4 5 5

6 6 7 7 8

8 9 9 10 10 " 1" 12 12

M 0 1 1
N 4 6 6

8 8 10 10 12 12 14 14

16 16 18 18 20

20 22 22 24 24 26 26 28 28

P 100 | 150 | 200

250 | 300 | 350 | 400

450 | 500 | 550 | 600

650 | 700 | 750 | 800 | 850

900 | 950 | 1000 | 1050

1100

1150 {1200 | 1250 | 1300

KG 4.70 | 511 | 552

593 | 6.34 | 6.75

716 | 75 | 791

8.32 | 8.73

9.14 | 9.55 | 9.96 [10.37 | 10.78

1119 11.6 | 12.01 | 12.42

12.83

13.24 | 13.65 | 14.06 | 14.47

SETHR, ERAMERE, SRBHBEARERNNEEAEAEEPINL, NERRFARAXS.

When motor with brake assembled on lower side, or the total length over than spec limit, it may not use standard pinhole. Please contact our sales department if you need more information & requirement.

www.gigager.com




BELF

Motor On Left Side

BEWIATRIR 43.25 +1

Mechanical limit: 43.25+1

181
XATRS0F, BA
B HEEASW
BEEE | EREER
4 ZRBHEE  EE
FEEAMERTHN o | BView
B 7E 735 Fff o B 8
When the stroke is 50mm, No
if fixing the body from o8
the top to the bottom, the fo
ixing hole will be blocked b

by slider and only can be
uses 4 screws to ix;as a
result, suggest that ixing
actuator body from the
bottom to the top.

BRITE
Stroke

50

L
BAREH 151 -
Origin of actuator: 151 BRITIE stroke 195
% BEMIIER 117521
— | Mechanical limit:11.75+1
=: T =g =
= — o o=

o) &
8-M6x1.0¥17

2-06V10H7

120
104

Y. s By o o B |
=

The datum plane

745 M*100 A_46

-

j N-M8x1.25 7 16+26.8 THR.

— A
e — —— A
N

Y —A
745 | 1002002 2 2OHTVE

GIGA

B {7 Unit:mm

60:0.03__ 60
3,
68 THR. |

m

®

Al
M8x1.25916 |

The datum plane

1100 1150

L 320.5|370.5| 420.5| 470.5| 520.5| 570.5|620.5 | 670.5|720.5| 770.5| 820.5 | 870.5| 920.5 | 970.5 [1020.5[1070.5|1120.5|1170.5|1220.5 | 1270.5 | 1320.5|1370.5|1420.5(1470.5|1520.5|
A 100 | 50 100 | 50 100 | 50 | 100 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 100 | 50 100 50 100 50 | 100 | 50 100
M 1 2 2 3 3 3 4 5 5 6 6 7 7 8 8 9 9 10 10 " 1" 12 12 13 13
N 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
P 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300
KG 470 | 511 | 552 | 593 | 6.34 | 6.75 | 716 | 7.5 | 7.91 | 832 | 873 | 9.14 | 955 | 9.96 |10.37 [10.78 | 11.19 | 11.6 | 12.01 | 12.42 | 12.83 | 13.24 | 13.65 | 14.06 | 14.47

@ B
Motor On Right Side

BEAMIMIER 43205 +1

Mechanical limit: 43.25+1

181.0
XTR50K, BE
8 HXEEA S
BEEE , ERER
4 ZBABE | R
EFEARERTHRL ©
B AL E N
When the stroke is 50mm, =8
if fixing the body from o'g
the top to the bottom, the o 8
ixing hole will be blocked © B View

by slider and only can be
uses 4 screws to ix;as a
result, suggest that ixing
actuator body from the
bottom to the top.

BRIT

Stroke

2-@6V10H7
8-M6x1.0917
- @( T =T \—
U B EMAMIRIR 11.75 +1
Bl Lt = ical limit:11.75::1
[60]
95
201.5
BERE 151 =
OrigI:iln of actuatqr: 151 BRITIZ stroke 119.5
L
120

W‘

76

B {7 Unit:mm

745 M*100 A 46 Tho datum plane
N-M8x1.25 7 16+26.8 THR~ LA
S
o~
B E
Lﬂ L2.06H7V6 —A
==
100£0.02 P

74.5

A-AView
120
602003 60
G68THR. |
o)
e

Al
J[M8x1.25916 of

BEE

The datum plane

1100 1150

L 320.5|370.5| 420.5| 470.5| 520.5| 570.5|620.5 | 670.5|720.5| 770.5| 820.5 | 870.5| 920.5 | 970.5 [1020.5[1070.5|1120.5|1170.5|1220.5 | 1270.5 | 1320.5|1370.5/1420.5(1470.5|1520.5|
A 100 | 50 100 | 50 100 | 50 | 100 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 100 | 50 100 50 100 50 | 100 | 50 100
M 1 2 2 3 3 3 4 5 5 6 6 7 7 8 8 9 9 10 10 1" 1 12 12 13 13
N 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
P 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300
KG 470 | 511 | 552 | 593 | 6.34 | 6.75 | 716 | 7.5 | 7.91 | 832 | 873 | 9.14 | 955 | 9.96 |10.37 [10.78 | 11.19 | 11.6 | 12.01 | 12.42 | 12.83 | 13.24 | 13.65 | 14.06 | 14.47

www.gigager.com

NN RS

SESHSH

2D

NN TSR

SNDD T BEREH

2]
-
=S
i

SNOD T HERHR

DDA LEED

S3Y3IS H1D SINYIS WD SIS 4ND S3Y3S d19 S33S dNO S3Y3S ANS S3Y3S H1D S3¥3IS HAD

FEIRENSED)




